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17 The diagram shows two circles and a square, ABCD.

A and B are the centres of the circles.

The radius of each circle is 5em.

Not drawn
accurately

Calculate the area of the shaded part of the square.
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23.

The diagram shows two circles with a point of intersection at A.

The centre of the larger circle is B. The radius of this circle is 6em.

BC is a diameter of the smaller circle. The radius of this circle is 5em.

A

Not drawn

') c accurately

(a) Explain why angle BAC must be a right angle.

\

3 mark

(b) What is the length of AC?

\
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The diagram shows two circles that intersect at P and Q.

Bis the centre of the larger circle.
Cis the centre of the smaller circle.

ABCD is a straight line.

Prove that the line through A and P is a tangent of the smaller circle.
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15.

\

Kevin is working out the area of a circle with radius 4

He writes:

Area = 7 x 8

Explain why Kevin's working is wrong.
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‘This shaded shape is made using two semicircles.

One semicircle has a diameter of 20cm.
‘The other has a diameter of 30cm.

Calculate the perimeter of the shaded shape.
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\

Kevin is working out the area of a circle with radius 4

He writes:

Area =T x 8

Explain why Kevin's working is wrong.
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25. AC is the diameter of a circle and B is a point on the circumference of the circle.

What s the size of angle x?

\
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15. This shaded shape is made using two semicircles.

One semicircle has a diameter of 20cm.
The other has a diameter of 30cm.

Calculate the perimeter of the shaded shape.

\
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19. () Astraight piece of model car track is 20cm in length.

20cm

How many of these straight pieces are needed to make a 1 metre track?

\7

(b) A curved piece of track looks like this:

How many of these curved pieces are needed to make a complete circle of track?

\—





image16.jpg
11. (a) A straight piece of model car track is 20cm in length.

20cm

How many of these straight pieces are needed to make a 1 metre track?

\_

(b) A curved piece of track looks like this:

How many of these curved pieces are needed to make a complete circle of track?

\7
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2. (a) Astraight piece of model car track is 20cm in length.

20cm

How many of these straight pieces are needed to make a 1 metre track?

\—

(b) Acurved piece of track looks like this:

How many of these curved pieces are needed to make a complete circle of track?

\—
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18.

\

The diagram shows a plan of Luke's new lawn.
The lawn is a circle with radius 3m.

Work out the area of the lawn.
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8.

\

The diagram shows a plan of Luke's new lawn.
The lawn is a circle with radius 3m.

Work out the area of the lawn.
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‘The graph shows a circle with centre (0, 0) y
‘
‘I x24y?=25

(@) There are two points on the circumference of the circle with an x-coordinate of 3
\ Complete the coordinates of these two points.

The circle has the equation:

Mayiazs

(8 ) and (3,

) s

(o) What s the radius of the circle?

©

Point P is on the circumference of the circle.
ts x-coordinate is equal to its y-coordinate.

What are the coordinates of point P, correct to 1 decimal place?

Pis (— ——) f—
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24,

\

A window is made with two pieces of glass.

One piece

square, the other is a semicircle.

Not drawn

The area of the square is 1m?

What is the area of the semicircle?
Give your answer in cm? to the nearest whole number.

cm
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9. Ashop sells rings of different sizes.
The diagram shows the diameters of the different sizes.

@ ==t

15.7mm 16.5mm 17.3mm 182mm 18.9mm

(a) What s the circumference of a size 8 ring?

\ om

(b) Rachel wants to buy a ring for her midde finger.
‘That finger has a circumference of 51mm.
What size ring should she buy?

Show working to explain your answer.

Tick (v') your answer.

\ size 5 size 6 size 7 size 8 size 9
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0. Ashop sells rings of different sizes.

The diagram shows the diameters of the different sizes.

‘ - .

15.7mm 16.5mm 17.3mm 182mm 18.9mm
(a) What s the circumference of a size 8 ring?
\ mm

(b) Rachel wants to buy a ring for her middle finger.

That finger has a circumference of 51 mm.

What size ring should she buy?

Show working to explain your answer.

Tick (v) your answer.

size 6 size 7 size 8 size 9

\ sizes





image24.jpg
7. Lookat the diagram.
The square has a side length of 7cm.
The circle fits exactly inside the square.

20 .

7qm accurately

N

Work out the area of the circle.

cm’
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9. The diagram below shows two points A and B that are 6cm apart.

ix circles of radius 1em, 2cm, 3cm, 4cm, 5cm and
either A or B as its centre.

Around each point a
6cm. Each circle

\

(a) On the diagram, mark with a cross any points that are

4cm away from A and 4cm away from B.

(b) Now draw the locus of all points that are
the same distance from A as they are from B.
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n

The diagram below shows two points A and B that are 6cm apart.

Around each point a
6cm. Each circle has

\

ix circles of radius 1cm, 2em, 3em, 4cm, 5em and
her A or B as its centre.

(a) On the diagram, mark with a cross any points that are
4cm away from A and dcm away from B.

Vimin

(b) Now draw the locus of all points that are

the same distance from A as they are from B. i




image3.jpg
16.

The diagram shows 3 points, A, B and C, on a circle, centre O.

ACiis a diameter of the circle.

B
L7 )

(a) Angle BAO is x° and angle BCO is y*

Explain why angle ABO must be x° and angle CBO must be y°*

\

(b) Use algebra to show that angle ABC must be 90°

\
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12. (a) The cross-section of a cylindrical cotton reel is a circle. 3em
The diameter of this circle is 3cm.

What is the circumference of this circle?

cm
Vi

(b) 91 metres of cotton goes round the cotton reel. 3cm

About how many times does the cotton
go round the reel?

Show your working, and give your answer
1o the nearest ten.
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-secti indri is a ci 3cm
5. (a) The cross-section of a cylindrical cotton reel is a circle.

The diameter of this circle is 3cm.

What is the circumference of this circle?

cm
Tk

(b) 91 metres of cotton goes round the cotton reel. 3cm

About how many times does the cotton
go round the reel?

Show your working, and give your answer
to the nearest ten

2maiks
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25. The diagram shows two circles and a square, ABCD.

A and B are the centres of the circles.
The radius of each circle is 5em.

Not drawn
accurately

<

Calculate the area of the shaded part of the square.

2mans





